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P ol s elo Python. 1

. B4R Qd"{'?" oMo e » ‘;?))3.19_3 jy ™ »)AL.(.AS python

(08 OLHLEE aShdagoY Jdd 8438865 Abc (14,4 Guido van Rossum  sldasaslsS
lacsy i€ B0 iy 5 5SS o Jo3ss ol ABC L lilasls oS5 2o
5035 - Olinollils Cadagogie L ABC oS . oaSiadageY a6 532 Y pesl 5550
ol O iidila g 0,K0B 1 58205 osdaw Slods

Lol (i e jad o e S python supis Lo-1991 845
gy lho pdle gtz o Ll 3348 Touls C v 0dlgr 0liliagd WWge lads € 5

. JLW)&S 1.1
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O peen) Sopm LS ¢ jussdaidife st s Gliliae Wil could il 55 S
ML WL oS S o 05 s Luble a3 03,80 ool 1,208 Lol S50
SIBE wos Jloas a8 )68 olisadsd s ek Ltk

U el o Python Liics .2

aSosl5 -)Ly 9,42 éjy \..u)\m :55 ¢ ladd Jan b)SLL;; R EIOV.E WESPA alowwan u.almoﬁﬁ
«5051,L e 175 Elo Java 568 olals o 15 Python

public class Helloworld {

public static void main(String[] args) {

System.out.println{"Hello, world!");

: SwlbuaY8 Sl Python. 3

(s a4 S b salisss Python >

b y85 dopad  Soo Python Jao ¢ cSogd aesan SIring « Ole ¢ Jdogs ¢ aunSigs »
P oS s

goalgd saligigy S MU s Bleo )g s o35S ¢ palS e Lol aLE gl )ly >

Olw Wads  gwg ol Slids Python o L il 434S sldaax 5 J4l>4S ELo Python >
oY laid o L3 Olowol 288 03S 3 UL Laxsda 0§ wasd ¢ slde 13 string .
¢ ondYB a5 0 55,8000 Lot cal 534S Sldaax) 5 Python . jull &Kxd 355
old 00035 o XML ¢ Letinns 2 3L81,5 05 55505 Olasls ¢ (ald 00,68 jo canSd
S REPVEWYCIE EN N

Slloaxd B 585 ¢ uoalinal Oalo Jiogs Lo, xS Oladids i awlaras Python >
¢ bl pold g lacdd SO,V E L Jud g sl W e alisof Ladlie 4558
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ooy 81,5 0 538 8035,3S Glusle ¢ LS je8 ¢ LS P Ll ¢ I us oL de

P St 1538 Leal Se 05 JiedS 5SS e B Lde radih iSen s
il ol dlues ¢ aibilionld ElieS oala Sollb 03,4 cutinld Jas adooss yo
i 5 oS cSang Sosm b oY RS nSllasls Jjes

: Swoy48 Sl Python. 4
Ol S 0§ ool >
aihe 3hrs ¢ eedan >
Oafoaly 5 WS gd >

>

Ll dsds Jgs

: Suleas el Python. 5

SLo,Y; B oennsS B5le Losdd Lol aianns Tilin ;8 L WLS WAL 1300 (2L 128 >
LLALS s anlie e ol oalo MLS WSl elbejas i iL3 oo
- gelel g

5B I o sl a0 >

SAel S python .1




/https: //www. python. org/downloads
oAal S pycharm .2

/https: //www. jetbrains. com/pycharm

: swed! 59,2 Hello Python 45

oS Bl jan ¢ O s in cwnsS Sles sua Yl aes! SS9 adas Python

Cdades Lo jo duwes! 59, Python 8,5 Jlos Glindg iad o 0

Cdadgs oulSal & PY  atesld  pwolioaskS waxs$a sl pls! 39,0 Python
print("hello python")
print("hello world")

SO g8 i g aK085 85 jo Sws python LJg print

b e o 8058 O, S dejas Souxd ELS TR Ll slaid print

:(BUG) b SMILL
MGl 5 LS SL 5JBL Sodmoions Sb ot Sy s darasS eomifos BUG
PS5 oo il 05,8304 0 ,al5aS0 00 Jlojghe WAL Sb azcas Bl ¢ aiglds 8 Sluaes] 39

1 B Jg8 >

pirnt("Hello world")  Galusas
NameError: name 'pirnt' is not defined
P Jai 18,880 JusgS print sls o >
SyntaxError: invalid syntax

: B Siles
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IndentationError: unexpected indent
Sleogd 65,0 Olvamgs 85lies Sa o s Ll S oladsl,e 3wl pelws Python
s, 3 I Taes) g ¢ laosd o5 0 Olisasless

P 1S python oledes oils 005 3S dos .1

python **** py

EHE&: C\Windows\System32\cmd.exe

python first python. py

): \Python®% 3\ JERl

1 (LS 5 ShmS) s js  gwued] ;S9 53 PYthon ouss53S dos . 2

P a waod! S92 python 15 pycharm .2




[P<} File Edit View MNavigate Code Refactor Run Tools VCS Window Help

Python®3 = E&ti = first_python.py

E; = first_python.py

= print('hello world')
| ]

] print('hello python')
E names = 'hello'

for name in names:
print(name)

P sid 350040 3> LS pycharm

Refa VCS Window Hdpl «:‘l.giw..-';f,_:;,.:,: harm - Administrator - B8 X
- Sl badup > > # G G H W[ Q
B + & — | & settlementhiml B views.py =
: @login_required B H
jaal, Ddoesim . H
= e def dollarPrice(request):... Jﬁ:’b 3 95 -
o
@login_required
i | def invoicesOfPayment(request):...
@login_required
def addNewInvoicesOfPayment(request):...
tiement)  if requestmethod == POST
Debug: backup -
[  Debugger BN Console =
» J
Frames Verisbles ES |
¥ W S OL D '
PR P = é
B i emiie S50 e L Loel g
= = BT
|
*
8 > aRen S Debug  § Puthon Conool B e g Dientioo
[C) Data Sources Detected: Connection properties are detected. // Configure (2 minutes ago) 17chars 634:26 CRIF UTF-8 T @ 4spaces Python3.8

o D o 9 o
VI35 G, S5y
S ¢ sedd L@o\)f”,; Oloonidd 1,8 a4 agnad (SO 43 Job Sl # u)l.«ab s #
gt s, MBIS ey 5 ¢ bl wes S5 Al
ads LB 50 bl 58 Bl S5 SLEJE 4

( o )
6- )
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= first_python.
|# Loal S50 (o

print('hello world')
print('hello python')

« & e & Wl v
ool 35 890,88 98S
jondge lituillgh dguds Ma1EE 53055 O3S claaely 1535 s conSS olioMal}d iS5

= first_python.py

Frerer

¢lnad _1 e 2 js A CaSn l_'j_ir_l_‘.___l)..a ]‘)_u JAEM

gl il 8 i s 5 D) 36 35138 S

Frerer

print("Mal34 330,43 ©:35”)

oS Wld 3SLuSl

Jlns P Sy
10 + 20 = 30 hbed -
50 - 30 = 20 ERK; -
20 * 30 = 600 s §S *
10 7 20 = 0.5 eI /
9 //2=4 SR oF e /7
9% 2 =1 EEIVVE T WP T RV) %
2=3=8 a2 163 **
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:6 l :/]‘L? dbé)a..& ]

sosls Trueldy I 0,88 Jow I8 Slakas | ==

30u0ls Trueleds Jai o0 Jow I8 SuKa | 1=

jools Truecldss Jos oo ,ad Job oo,08 Jow Slakas | >

jasls Trueldss sloeS oo a8 Jgb )08 Jow Siklas | <

print(7==7) >  True print(7==9) >  False
print(7!=3) >  True print(7!=7) >  False
print(9 >7) >  True print(7 >9) >  False
print(7 >=7) >  True print(7 >=9) >  False

. QAL.M:M

JE¥D/E] WV-Sg-N SL LYY

PORT V) B | WV AU N |

downls True puoliildye True asss X,y [ X and y | and

daols True (Ll True v, &l X,yoséas | X or y | or

souls False (Lo True x,484 | not X not

X = True y = False
print(x and y) -  False
print(x or y) >  True

print(not x) ->  False

. QAL.M:M

PSS o Sdoed




P e oLas
a=a+b a+=b +=
a=a-b a-= -=
a=a*b a*=b *=
a=a/b a/=b /=
a=a/lb al/l=b //=
a=a%b a%=Db %=
3 =3 **p g *%= * % —

2+3*5=17

2*3+5=11

PRI NI BISERIC<
SNSRI TUNCL N e S

el Ol id S plgw @

oade LSS58 sl Bl 385 L5 O @
:QALM’M

(2 +3)*5=25

2*(3+5)=16

uls.l;)..; u\)b d..(.aojga PO 8 g o 445 UAL,L.@ o.,\.fo§_>od.:‘> bégwojgg




s g | aSJas

1 * %k

2 L%/

3 + -

4 > < >= <=

5 == ==

6 %= [= [|= -= += *= *¥=
7 and or not

8y 9 and 7 ==
o e 8 . &1 1 Z.ve
Pdoond yloaig y95 180
Gl Oaeed 0li3558 padadid add o o S Wledlas Blile Mos) S5
podindas Laksle b Pae

s Shoed oSSneod 34,5535 1
oS o Daced LRSPB p88ex 05,5 oeabalid aced Olrsg) sS85 1 python
Odluwas

id = 498139
P ShSaeed Oled3,85555 L 2
Loals - Janallis _gopsd SIS 55,32 ottt ingosd olpd, 45335 s L Loal 5. sl
ik e = oaday Gaaedle Wb gl Hllaeed 0ty 355 1o python
Sy (o8 SlSaced 0ld3)85,585 BLE B Laeed ekl e
chads B WSS Cos Olaed e Ol 0§ Gl 3 ©ledlas 15 python

P Ol @

(nHols &5
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(float)ole o>,

(bool)J g
Cdadadils e Sl 8 AdLlLlB 1 (complex) gl S

P Olegr Ol @

"7(SIriNg) s

[1dist)eldes 33

O(tuple)os, s

{}(dictionary)was o

 hasd g 1Sared 035555 .3

@Y s wll; LW 58 Soniegss Tuilingd eund aSTacesd Olorig, 55555

g OBL (S8 il js 00355 05 Olo cjar Wabsy owd Slilaced Olpds 4555 F
oS AL ol oo S 13

: Oalwas

message_1 N,

1 message X

Foslas @)Y ddoledgy SHUe T lilaced Ol 35585 >
greeting_message J
greeting message X

Oale o3 oSS98 SL 3w Blille oo python ol Sliaced Olpt))sSi B >
(Y Alelege Aisg5

IPi3hde pan s josed UlSS sound Elaifieed 0ldg iS58 >

(5 g

Ol alo 1 ol 88 jaliS Ll cslduaialid 8 O Joo o 1 slxS jo0ad 0SS >
RW|E T 0
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937 E1 UWOR- L@M)b A3 dgend Qbu;:g) 04 u.i.w.g R ENSWESY

oabessa «3ods Ll LS ¥l sy 1B alineed 0lpis i858 Soand ols @
i=10

f=1.5

b = True

result =i+ f +b

print(result)
gy LB B S S5 BLEE LB alined 0l s E S o @
: Oalawan
first-name = “Omer”
last-name = “Faruk”
result = first-name + last-name
print(result)
print(first-name + last-name)
Shad B LSa B8 Siabee GBS T B jalaced OlrdsiiSi8 Sud caSs @
JRTV IV KW P
i=25
flag = “<_*“
result =i * flag
print(result) > _ - - - - o L L o o o oo oo
s Bierd GB35 8 S s il Seed Ulpdg IS S olo @

Sosldsr il ks les il

f pdldilis LS INpUt dneSSgd
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Chadodild a8 dd Jded S W das e 5555 S izl S5 435S INPUL annSSg8
SALeslas B 008355,8 o sSdalind
cdould Jdsg8 sudSal (STring) cunsSy

. . . & e Z.VvEe .
e SIgE i 4535

Choo, sl il e S X Int(X)

hoo, 50l ile &L 5 x float(x)

ol Bleysd hed olabi S
S slileygs ¢ Gludgr bl dle 0bdas Sbile WAL of $,80 85 canSs a5
0,85 s g5l 58 S do o Gl oo a¥a 2 alilesd 4Kl 83 % - Fo S jeenianli
ol sua Y Ll
Gokilid o B aeed Glph 48555 Soauss e %
oy dabe il s Elaile 035k olals wie %06d « Juladid Gia s Wls Hiis %d
oo dake ile 8 Blaile eyl olil e %. 2F (Judadid O3 Wl )b %f
L Oddwan
isim = "Ahmed"
yax =25
boy = 1.75453453
print("ismi: %s, yixi: %d, boyi: %.2fm" % (isim, yax, boy))
-  ismi: Ahmed, yixi: 25, boyi: 1.75m

L X4 0’0

S AR

ot S350 i 0t s iy WG
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50388 WS dueund b Olaliiw & da3le Jb oalo sl L1
cu0388 WS dwwlal Sloin olaloiws puils L2
P 9388 pS A pad Slbge olabins 0l L3
: o e s FJouSowiod 5 2B ik Jlo Lol Sg 0 oo ,a 5 .4
SLS\ 1,0 8.5 1 bl
5LS 3.5 & iJ, el
3 29.75 & cungogus saog055
name = input(" ewwd: ")
price = float(input(" wll: "))

weight = float(input(" & axd: "))

total = price * weight

print("*" * 50)

print(" s %s" % name)

print(" ewlebL: %.2f 1" % price)
print(" & aad: %.2f LS % weight)
print("gwgesd (swiongun: %.2f 14" % total)
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sale_fruit

C:\Users\Administrator\AppData\Local\Programs\Python\Python38
Jsuli e

5.5 suwlal

3.5 1 i i

EEE R EEEE R RS EE L EE R E R LS E S E R R EE S E R E R L EEE L LS

= Ui

L

Jauld 1 sewud

| 3 5.50 : wlal

98 3,50 : ad i

|54 19.25 1 Luanguw (40 9065

Process finished with exit code 0
SRR
0f & likS oaaYB B e el oafliadid 03l lommd S &L python
gonilSar wallos SjalodaS slis B oS Blile & sl e B L L ceas
s LS5 ke GLile GIL Soo PYHROR LS 558 Sasioj
import keyword
print(keyword. kwlist)
[’False’, ’None’, 'True’, ’and’, ’as’, ’assert’, ’async’, ’await’, ’break’, ’class’,
’continue’, ’def’, ’del’, ’elif’, ’else’, ’except’, ’finally’, ’for’, ’from’, ’global’,
’if’, ’import’, ’in’, ’is’, ’lambda’, 'nonlocal’, ’not’, ’or’, ’pass’, ’raise’, ’return’,
’try’, ’while’, with’, ’yield’]
s gwido g if
LS 8 o adlae LY ile ©jad eSS
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andedas sy

=

sMar Ul WG

o l . l.'. 5

if A:
print(A)

if. ..

if A:
print(A)
else:

print(B)

if. ..

else_ .

if A:
print(A)

elif B:
print(B)

if. ..

elif . elif .

if A:
print(A)

if. ..

elif .. elif .

else .
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elif B:
print(B)
else:

print(C)

foediS | adoge i Bw ovoed Eliidoge if
has_ticket = True
knife_length = 21
if has_ticket:
print(" xdidey c0aSHL Mydiddy Gh3)pAS DG k")

if knife_length > 20:

print(" xS %s OdS wueilu" % knife_length)
print("&)gpe cwld Wivie Juldg")

else:
print("cldydidsey (53,3484 Gaidalel )
print(" 3Kndew J3USSES Odudsy 1)
else:
print("JI36 wdlo L")
P dillilS ovmnidog i Elo sl LSS
if age >= 0 and age <=120:
if python >= 60 or C++ >= 60:

if not is_employee:

[ _47- )
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: ,,MLML.M: N W cl(random) L é)wﬁ eI

import random

print(random.randint(1, 9)) Vv

print(random.randint(9, 1)) X

while i< 5:

eldygod
ek 18 sl g B e plas gy el fos
v b8 1z Lol Z Lol awlul laewid 0alal&s SosS Glowidd =8 Ldgs Jg, 3L while
Ok
i=0
while i < 5:
print(“hello python”)
i+=1
o0 Judl bl aSSlpjgos penSax Sl gos b s Bl (S09S 5 0as 1 FE 1 54
9555 sl GLIE 0 5Sse owiaSalind isssS ohlsyfos 1835 . Jadd 38 BJUL s ,Ss s
c3Y el 0508 o g8
continue »§ break

[ _15- )
WWW.uyglhurl%itap.Com




)§.w 9..L.n.] dla olboadonlels LRV 5 sllo N )§oo ww’ > 40

é.A.aLonJ ‘):;p.f’ )Yo9$ 6&4.».9)15 05 5;&;@9.} él;.lu)é'o.a ‘b..’L:JB.’ )_a)Lb u)dwo g f}UM break

)

Ll YosS Soud)B bzl eldodes j3S5as (Il pile wial o adss continue

G B oSSl eSS 05 Jledse

ol gn ¢ Jo S ppmiv o o0gS Lhildsl Slaldo gos 04,8 cmuiadils S continue
roSege i8S il 4SSl 00 Ssr
beak: Jl.ws

i=0

while i < 10:
if i == 3:
break
print(i)
i+=1

print("over")

continue : Jlww
i=0
while i < 10:
ifi==
i+=1

continue
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print(i)

i+=1

tdiis | S while wldo §os Lws ovusd ELS while wldo Goo
row =1
while row <= 5:

col=1

while col <= row:
print("*"’ end:|' ")

col +=1

print("")

row +=1
° Z & e Z + VS o .
.6)*L»5J4.3 s 445 135 M
G 356 W\
EORIFERIAY

e
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MG 588 \n

TS5 Ssligr 4 Lo,y

BYLINESCREAN §

cy-07. py t Jlns

L X4 0’0

S AR

By Lol S5 e Olbsagls sl 03455 155 3o BJ)L azd 100 (50 .1

result = 0

# 1. Gladsodisiid deidoaasd sy ey LiSsidd Laidyls  igilw
s o] s LS

i =20

# 2. Ladoll 4o gooyoy il §asield

while 1 <= 100:

print (1)

# o2 psisd /il ol result goldso 1/ yLijis
sasd g d

result += 1

# ﬂgﬁglg}é_fJJJJ}J/%oJoJJ64(ﬁdldj

i +=1

print (" i ﬂdeiJLw D LR G s jasde" S result)
Ll Lo g o il _pemamisd O35 L8 oMl Cds 5L sz 100 5050 . 2

[ _.21- ]
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# 1. gladisdiSiid geiToaasd sy eisy LS Laidold dsilw
e o) s LS
result = 0
i =0
while 1 <= 100:
#  Uoaaisd 1 j&_;%}g'jﬂ_MA/dJlﬁlEJMOJO_;P}J}J hs—aslis—9
if 1 % 2 == 0:
print (i)
# Jojﬁ_f%}g Oolw Latg s jsasidgd

result += i

print (" i ﬂdeiJLw Mol rs 5SS h4sde" % result)

FUNLSTY

*

P9y damaSIgs
ERRE )$)SA3 uééjs °§ ‘g;3§)§3§s gs)*séﬁ uéﬁbéséﬁ &ﬂﬁpxaj*g ags

Pt Bl (Ao g dnnSSgd

il oS dnSSg8 (Sl el S del JI55 I >

Oy alxed cOlswoale po Calisld o lucid SloanaS3gd 8 Tl ls eand aSanSigs >
Y s 5455

Gake Ole S gadgr Llse ol Ol 0 i 00FE (0 comnd annSigd >
LY bl ©ss i gs Galy e Gldle o duleledils

[ _oo. )
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def test():
print("hello world")
print("hello python")
print("hello Turkistan")
print("hello java")
test()
print("hello hello")

il )23 faildd s VoS SooanaSOgs sl WouiaSSalind (oje e annSSg8
s $,¥098 (SunS puRSP CulS bl 13g)8 GaSTaliS SanSSgs S (puililg
R

1 JB dus

TiaYps Lt jop tpunsSigh ol oitdind 155 ipunSgs

sgrgas loanaSSgs & L python 0,6 suiidild SamaSdsd SSdr dulds 1olil
L)Y AL Siass

P I8 paisas oS Sl pycharm

fwlgs OB Oos 595 188 o SawSOes b dudd | xS Sllaooad sSSas F8 Step Over
Cjols 18

8Kl oSO gd (Ll Odlos amnnsOss o808 « juld 1,8 sldsosas sSSa 7 Step Into

FEISJE ORI I
P 5 1955 Linl oS 0nSs Gl Sann Ola)pE SanSigh S8

. 'r**’-*-’...tf’ b IO

(3. )
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def multiple_table():

mmn v - i

Pl )l Eloasogs
chade Ll Uaeesd Olxd 5558 Lo ae sl U0 Tkl crediid SloanasGgs
sy LSHALed Wiy celhjan SlinenSigh Saeed Olzd), iS58 5 of
P iadl s oo
JNpE (owsd ) Wil Olxn 5558 ool alaxd U0 kel shmnendiid SloamasGgs
.éady:

def sumd(a, b):
el eemo, Ay b Soojn &
oian) | gJuﬁ Al dlas olalsjo alamd G0, sniaSTalind  SamasGgs
e 80a aSSaeed Ol g, 85,8 S il by pewe) JYLeglas 5 judss

sum(10, 15)

SliapnS3gs gmumdtd S50 Ol )nls aa gdalid S pladelil siteps sS4
return ;g. Gldle . jodos cueed 4,400
g5l pmdad S50 835,88 DaSSaliS SanSSgs 385
def sum(a, b):
result =a + b

return result
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bool (set «wasd) (eldes 13 (04,05 « cunSS (Ol a2 L (Gl a3 s EloawnSSgs 15 python
B I P
P il SO a8 suad SloanSGes
def testl():
print("*" * 50)

def test2():
print("-" * 50)
testl()
print("+" * 50)

test2()

LS S Solggs
b;LSgM M‘j& ‘M).»m wé.sj.e M..o’ 4D é,lua.m §93 °5 O o uL’wé)éf)}S uLi."l 'f
oy

chad g Al (o S8 aSSa> § Glal g xSagdalis 58 B 65w sldlle import S48

Psomd Jgoge

gadgr Lubsjo Galo Olo 0§ ¢ B jm Go3E (0,80 o3 80nSSg8
oY Gleledil cale ol >

co3Y Al dlsy plash ale jalie Gldlls >

P Odeed Olomio ;15585 Sl
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P Sllaeed Olxd ) 85585

P Ol @

(inHols 6§55

(float)ole o>,

(bool)J g

donkadi 638 Wles ool3 ddullB @ (complex) gl gs
P Olgr Ol @

(string) cu.Ss

(list)eldes 35

(tuple)os 35

(dictionary)wass)

(list) sldes 33
Cdeladid O 85 Msle S Wle BB o >
Chouds B o ¢ e, S L duuls o Ldis el [T 2
ol s 0 oud ey SleSles s P
¢3S il ot @8l Sl 1S 7 688w, 58S ¢ Tl Waged S 18 1 S jaSdd
3,38 GIUL Taeal Sy
name-list = [‘Ahmed’, ‘Osman’, ‘Yuseyin’]
print(name-list[0) > ?
sl B Gloasdid 058 (list)elde 3
name-list.append name-list.count name-list. insert
name-list.reverse name-list.clear name-list. extend

name-list. pop name-list. sort name-list. copy
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name-list.remove

name-list.index

P B
=) 94w g2

Mg

s 5 hi g5 3

list.insert(3, ‘hello’)

idegd o9 sl Ji

list. append(5)

&Lbé.j&b k_ée:« list2

L 6at 68 L list

list. extend(list2)

okl

T Shdda Sousd,éds .1

oo e. Vv
s 443

o

list[11=7

S Sowsg;s L2

S35 3

del list[2]

370&;353@.1

S35 3

list.remove(7)

Fh$ SSos 1 Yus

list. pop

Shddas  Sousd;s L2

RS2

list. pop(2)

S o list

list. clear

5,57 3

SSel35185 sl list

len(list)

o3 Soo list &5
Sl

list. count(b)

s i b3y oo} s

list.sort()

8505 55 o a4

d‘&Ab"c)

list. sort(reverse=True)

o . T oo oo
u*"’*l”) D) sk

list. reverse()

elle,
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S list SLa10 | list. index(10)

’ e . . e
9%?1-’ o Lo

D e jaSad

Stz oo (RAMD giakile o8 ineod 0lad})iSis sl 5o Salilla del .1
Sheed GBpISE B losgS SheS adfp P ik S8 galalid Gp
ol gy hSSalals

Cdud g Sl aiwlie o ol M BRI SARVE- I I FEYVIRY VI WAL STV I

s aSinlis 581 eSiu s pdle OB aed (P 5V kS Jdaieds jesaiid .3

P otaito o8 Wsle dan (3 L  Sisidos 53
for name in name_list:

print(name)

:(tuple) ©34,65

akadind o L SNl Bl e >

Chouls 8 salo ¢ oyl 83 ML L duuds o Lediid oads () 2
gl (o0 0 03 Blang e >

P e jaSad

PS8 Ololentiz b guulll Olis5 )98 ale Slle 3
lee LS55 Sl Soaard Eliog)sS
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info_tuple = ("Omer", 18, 1.75, "Omer")
info_tuple = ()

info_tuple = (7,)

8 ALY i lbilid O3S Sl
P iligy 85 Bl oS

len(info_tuple)
PPl o8 889,88 1aag,e8 Elsle Has sl

info_tuple.count("Omer")

info_tuple[0]
Do 25 a5 6538w, 5S

info_tuple.index("Omer")

Pobedio p8 Wsledlas 3L (SnpdeS
gy Sis )3 Whedas BJ)L (Sendpes BL8B Tor g sl
for my_info in info_tuple:

print(my_info)
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JEME Y RAEY NS HC

dodgr aSiiidid s 09595 1ud ;98 suoed 93,500 05 el b EliannSigs @

b Olayss @
info_tuple = ("Omer ", 21, 1.85)
print("%s v %d 25 %.2f" % (info_tuple[0], info_tuple[1], info_tuple[2]))
(info_tuple[0], info_tuple[1], info_tuple[2]) = info_tuple

10)31_35)95 Sl i )Af)éﬁ : @

P gy eledB B8 58,65 0f ldes 3
cgadgr et 5ol SSlenpud (24,05 bl wanenS3 45 list
info_tuple = ("Omer", 21, 1.85)
new_list = list(info_tuple)
print(new _list)
cgadge (s gulll 5,08 Sudespd eidid twannnSS 95 tuple
info_list =["Omer", 21, 1.85]
new_tuple = tuple(info_list)
print(new_tuple)

(93,308 teed 1) 53 iineed 0l S8 S pa =T, b =5 ;s

FEON R OIS

o aosls L Juo VLBl Sledess L O3S Lo3asd) L cebosd Waeed 4l Ldgy wasd)
9lBle 55285 Sllioguulise Lo

P Som oldg vale e 3

e o5 Ll gr wad gl celdpdjas e 53
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o Lot ol 3,5 5 () oSy

person = {"name": "Omer", "age": 18, "height": 1.75}

name, age, height :z >0
Omer, 18, 1.75 : Oagess
P e jaSad

oS g Vyu pdber gl @

édwae u;.laflﬁ Q&L»J. : uw b§ C}blﬁ ®

ey oo 08,55 colu ¢ cmnSd iz 3inl ( juder lito o sod Il an aSaged @

S w3 Y drban Olooadils O3S slusas y

P B
=) 94w g2

R 5 N “ " MR K 9 s ” ”
it p8 8858008 38,8 7 48> | person['name”]

25,0558 Waeend (315, Cﬁ"’g person[“age”] = 21

pid Waeed 0§ Z 425 X | person["gender"] = “male”

Sl Waeed 34l | len(person)

99,8788 SSaeend déb,lblﬁ &J)Q person. clear()

Slos 8 Wagesd 545> | person.items()

g8 wolds S me (Ldg z4ixB | person. setdefault(“ab”, 67)

Juld Laeesd 58>l Ko Ly

L99,9>5S Lnew-person Jsperson | new-person=person.copyQ

solsgd M-8 Sisacdd | person. keysO

oo jalSaeed Sciasd) | person. valuesQ

MK o person | person.update(temp-dict)

.
. E

olowlisss & person >l | new=dict.fromkeys(person)

——
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S5:35 onigl e by olils None

o age 18 Laced 34l>38>B Ssasd) | person. pop(“age”)

S5 P

i 8 0SS 800nd (58,15 7 325 | person. get(“name”)

S48 P SSaeesd 4l>dixl Sos 5B a8 | person. popitems

et p8 Uslaglae 3,l  Satsad 3l
Chodg JSn 8 Wb das 3d,L Scsasy 38,5 for 3 slalle
for k in person:

print("%s - %s" % (k, person[k]))

: (String) cuSes
Oao 3L BB T SL L he8 7 piaSS 1o python o Lol aliae Ldg eSS
Osdawdn « joo g LodilS
a = "helle python"
b = ‘helle python'

P e yaSwad

o Lol ol 15,5 35 LS Bl B 5 ™ ke oS 508
ey Lol Gals U235 498 T S LB ©glgr L 25 U T oiumd oSS 0505
g (LS 8 000 pe — (00 855588 jae StieSS 318,58 Tor 5w sLille
sy LS5 el oS00 Sosih, o pilte S5 BLSJS g giS

5 a5Y datas liaadid OIS Eluanss
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P pSge .1

- 1 . R
P ) sadened o

duu,e0ld STrue (Lde 53lie cwmesanr SL3String

string. isspace()

o True We ol SL Oan  aweeanr 3L string

9“)9-9.13

string. isalnumQ)

cdoo,aols o True Wle  Ojae  cwaesan SO string

string. isalpha()

dus,50l oS True Lle ols 0555 cmmosan SLo string

Cduo, sl S False Ldg ol )l

o

string. isdecimal()

dus,506 oS True Lle ols 0555 cmmosan SLo string

L\u00b2 (1) .4u,aul 5 False Ll olo s,

o

YIS a8 8e L8 Wik  alisod

string. isdigit()

dus,506 oS True Lle ols 0555 cmmosan ELo string

o

YIS a3 ke amslus

string.isnumeric()

True Lo Jo> oan 4L Sloj5w acean Soostring

Juo, 5018 <

string. istitleQ)

o True Lle slxS o0 Slojde aevan SO string

b 9. .2
Juo, 4018

string. islower(Q)

o True Llg Jo>  ojan Slojie aeean  Sos string

b 9. .2
Juo, 5018

string. isupper()

u»é)é.wwlf: o§ ui‘:oaj’,:; .2

* 1 . )
=) g g

lde ol osle  str string

string. startswith(str)
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oo, s0ls o True

ldg olodeLlE  oale str string | string. endswith(str)

oo, a0ls o True

ldgs 0w 81s el str u548 | string. find(str, start=0,
sl Sl str Sos string end=len(string))
[N PRI NEPYTIL Eeyy 7Y SIRUW JYL

Cdwoyanls o -1

S ed waday ¢ glises L find(O 4 | string. rfind(str, start=0,

c g 15 0L | end=len(string))

o Str 848 plis¢gs L find() & | string. index(str, start=0,
- 3ok o das 3JUL- LuJLU | end=len(string))

oS g8 wadas ¢ yslisg5 & index() & | string.rindex(str, start=0,

L daoos 15 OWLL | end=len(string))

L new-str g old-str .o string | string.replace(old-str,

S8,8uldE Lde num . o, il JB new-str,num=string. count(old))

A o S Jgz .3

S ypaini g Mg

oo Jo> ose xUo Sos string | string. capitalize()

oo Jo> ose BL Slode o Sos string | string. titleO)

s Oy shaeS oae Jee 3J,L oo string | string. lower()

2d Oy Je> jae 3JL Ses string | string. upper(Q

o> a0 xS (xS ojan Je>  Sos string | string. swapcase()
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s 5 §AIAs g g g5

width 5304585 OV 8005 60,83 Jgw o string | string. 1just(width)
od OB gy by eSOl
Bslss Galy 3loss

width 33585 OV, 48435 a0 a5 I8 o string | string. r just(width)
sod OB ey o pder cweSS Ko ol
e

width 333785 OV, i85 aSuSa o string | string. center(width)
soed OB ey oo pder cweSS Ko ol
e

L AP lig 5

(55 §584 §or g

choo, e85 JBilhe Souw a8 Jew Gl string | string. IstripQ)

cho, e85 JBilhe Souw,ad Jo8 ELo string | string. rstrip()

cho, g8 Balhe Souww el Jew J¢5 Elo string | string. stripQ)

L Y o5 il .6

s ) G4 5 w5

o8 ¢ duode )b W d,68 liuels 3 o string | string. partition(str)
(str-front, str, str-behind)

owiso,al Job waday « lisg5 L& partition | string. rpartition(str)
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el

ool L o oString saxogss sudl (aliallas | string. split(str="", num)
ol ¢ Sl s Mol Les num

9388 e Oawlwld & C\rYy "\, \r\n’) | string. splitlines()

c g, 50,8 Sl i o Olals el
(08,65 (Sldie 13 cwSS)ades Jawds & | string. join(seq)
SMlS Sord eSS S (i
o S DY axoe String oSl e

ki el S

Y gasas WL L7

(55§45 g2 g5

SS8l35585 string | len(string)

Sl euid S0 string &Ls str | string. count(str)

9 Sovenid x s Seo string &L str | string. index(str)

O,ap  Sonis,ss num Sl string | string[num]

S S (SErING) oSS

string[start: end: sizel
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D

num__str = "0123456789"
print(num__str[2:6])
print(num__str[2:])
print(num__str[2:10])
print(num__str[0:6])
print(num__str[:6])
print(num__str[:])
print(num__str[::2])
print(num__ str[1::2])
print(num__ str[-1])
print(num__str[2:-1])
print(num__str[-2:])

print(num__str[0::-1])

print(num__str[-1::-1])

print(num__str[::-1])

(

L
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ST JPL ORI

b Bxe5 sl il sl LU o nadsl Slos Sl (el @

S8 1 Leesd dude solluail guioed il il cousaSwaS OWGL il Ji @
sl pRier LS

o5 1 Leasd jods dedlunsily oo i inl i poB ¢ suiiSsS a5 U5 @
sl piier LS

.,&»J}) é-oﬁw)b ‘5~ol.w foaaé U3 aSwwaS 15)15 S8 “)15 o1 @Lw fo.w.é aSesls @

: b 5 Ginenl
odess J3u 85 Shnonls U d5 Lo Yillgh 5,05 pmmontd 03 04,55 ¢ Sllos 33 1 oS

S j88w045 (s 5 §SA g Jéu 85
duolblue wole dluels | len(item)

doo, i85 Saeed 0l §,55355 | del(item)

del item

wads g wasd A58 duoll aged Jo> Fas | max(item)

e s A e e s
olales,l8 prb

Waday e wasd 4848 ol Saged xS Ji | min(item)

U fm A e e e
olales )18 > 4i>18

s .Ju)Uas uﬂé)éwdw)éb FEIRTE o&L,:a.S Sas Wl

Sl 5 cewnSS | S, el e | T1,2,3,4] [1.2] + [3.4] +
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‘ s] .}0 ‘o S o U.,‘YJ)SM [“hi”, “hi”] [“hi”] *2 *

NORPSICIUICICH B SOCT N T True 3in(1,2,3) in

‘é/LJ.QJ)AJ S QAMAS ué.?jd.b True 4 not in (1’ 2’ 3) not in

‘ \.S/lAl-QJ)AJ oSS uoé)éa.ml»w True (1’2’3) <(2’2,3) >>=< <=

: for else sllo,ses o35
|8 $25S €15 unS (olilsy 1 SLJB QUL i 315 il 258 Or ol foo
RV
students = [
{"name": "Omer", "age": 20, "weight": 75, "height": 1.7},
{"name": "Ahmed", "age": 19, "weight": 65, "height": 1.6},
{"name": "Osman", "age": 19, "weight": 80, "height": 1.6}
]
find name = "Omer"

for stu_ dict in students:

if stu_ dict[ "name"] == find__name:
print("(ASS )b Al 3 a4y
break
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else:
print("[f\&:‘ (9 5 ‘\_\S.\LQ.\JJJ (”'“"u ")
Py il Alaeed Ol 15555

Sos python . jucdsls Lo dadile Sd  awvan LSl das 3dile 0§ Waged Olaxis 5585
gadSS 5o BB 7 5ia L cmnenan liioed 59,5005 0f S piael b Sl

gl @25 - o0 B Uiz galile Sopd Sloglas Bulils 0§ Wacesd Ol 5555 @

N VST | SIS EVESPL. U0 f}UM o dadile Sxd wlodlas slils @

hodBle ool S dedile Soed Sl das Gulile aSGaced Glxin 5385 @

W Ly 7 5105 gusyol5 LSl dan sulile 0aals b Siilaeend Olxio 25355 @

-1 gt
2§21
b =a @2®

Chad g S, 5AS00 s ol SLliSle e sulile  Sclaced Olio w8385 38,5 1d ) amnsGgs
ZQALwM
print(id(a))

def test(num):
print("a-->num", id(num))

result = "hello"

[ - 40
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print("result=hello", id(result))
return result

a=10

print("a=10", id(a))

r = test(a)

print("result-->r", id(r))

3k 3k 3k 3k 3k 3k 3k 3k 3k 3k sk sk sk sk sk sk 3k >k 3k 3k 3k 3k >k ok sk sk Sk Sk Sk Sk Sk 3k 3k sk ok sk sk sk sk sk 3k 3k >k >k 3k 3k 3k sk sk Sk sk sk Sk Sk Sk Sk ok ok sk sk sk sk sk ok 3k 3k >k >k ok ok sk sk sk sk sk

a={"name": "Omer"}
print(id(a))
a["age"] =18
print(id(a))
a.clear()
print(id(a))
print(a)
a-{)
print(id(a))
P s o00,055 35 05 Oland ;5535
ledgr i ,08558 S Wl das Blle S dadile Sl WS ese 65585
int, bool, float, complex : . ol
String : cuuSS

tuple : 04,5

odgs sSis 0858 S Wb Has Bbile S dedile S8 i Wl oleio L5535
list : éLL,.’)m
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dict: wasy)

D i jaSuoad
s Olrio w538 (Jo S hadidd S eas 48585 Gaday o wadn leedixals Slusasy
Cdaiie LS BJBL adadils

hash() ausGgs

Pl 0P e o Koo 95,3006 0 Glwuld Jed L el S WS eas a8 38

’

Pt

9 AR IR B
')5“‘?“‘&"95 uLsuoq)jﬁls

print(hash(1))
print(hash(1))
print(hash(""hello'))

print(hash(""hello'))

P Odeed Olomio W55 85 eld a0

ounpd ElisnSigs of Juabpm Lediid ouoed SlianusSig Waced Ol 2555 Sl jw
Waeed Olato ;1S58 Slyh b (Sonnpd SdanaSiss (S oilie il 128 annSSss
oo gs, G008 (i ja8 Lentiann
goade e Ledind aSSaeed Olpio 2558 Sy Sllennd plis P annSSs8 Olisuslonis o3
gnleld jawdd a0 o L5555 susan
B pllal lnadd 18 aeSSgs S Sliaeed Ol 58 ey
AL S dae Bludly Sooad dloamasoss Tl jax & 0F - udy el sidy S0
adoid e 33

def demo1():

num = 10

print("demol==>num", num)
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def demo2():
num = 99
print("demo2 ==> num", num)

pass

demo1()
demo2()

P OaeenS Ol 25585 cmgagh
gopdadid Gaced Olapio 15555

num = 10
def demo1():
print("demo1l ==> %d" % num)
def demo2():
print("demo2 ==> %d" % num)
demo1()
demo2()
P Ies Shiieed 5,500 0f &) il annSgs
Phassls o3,88 4 (Sondegss awlul laddiss L dladeed 45,500 o il

o o 5,806 03 iy >

Jou3alss W);S Mﬁ!u&h‘o&o émw‘yﬁ ua.so..a.l
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b seed (35,500 (G il >
AP 1y 5 e Oalas ¢ MogS 52

Db e 954006 L b >

P35 oo 38,40l L sl >
P50 Dteed 935 (o
def measure () :
print ("saos L")
temp = 39
wetness = 50
print (" oY yss L")
return temp, wetness
O
St Uil ) s it 5ol 5 s SLISS = a8 Sl Sigi 55 >
Pooslas L dooleld s L psall Jasdd Jaw jas
def demo(num, num__ list):
print(""the code in the function")
num = 100
num_ list = [1, 2, 3]
print(num)
print(num__list)
print("finished")
gl num=99
gl list=[4,5, 6]
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demo(gl_num, gl_ list)
print(gl_num)

print(gl_list)

toed Ml oty HitnSigh LB S ¥ soumd HiameSigh aSa >

o e 4 . Vs o P I I3 v Vs
JCTV VTV R TSV pAD  uond SLG poial b gJMM OFWRIITLEPL

def demo(num__ list):
num__list.append(9)
print(num__list)

gl_list=[1, 2, 3]

demo(gl_ list)

print('ok’)

print(gl_ list)

P e yaSwdd
o ¢ dude 0aalis o extend adadwsd (Lde 0aSalils & = (list)slde 3 4548

o o 9 FE A " ZEE) IR £

def demo(num, num__list):
num += num

num__list += num_ list
print(num)

print(num__list)
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gl num=9

gl_list =[1, 2, 3]
demo(gl_num, gl_ list)
print(gl_num)

print(gl_list)

Sy SIS g
b odude S0 Saeed o SouiSES Laaalh o adas couiaS e Ledicd aSannSogs
Gaged Lol b cowiaSalind SamnSdgs a8 L dudos paalh Seudssis el
it e LSe35 iy g5 o anSish JaSimman
P e jaSad
oy il L1585 BLEY il b pgse cowssSialiS S puall LSoul3é3S .1
def print__info(name, gender=True):
gender__text = "male”
if not gender:
gender__text = "female”

print("%s is %s" % (name, gender__text))

print_info("Ahmed")
print__info("Osman")

print__info("Ayse", False)

A3V il pdisr cowiaSialid SamnSisd L Spally SoWEBES OIS g2

S e
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def print__info(name, title="", gender=True):
gender_text = "male”
if not gender:
gender_text = "female”
print("[%s]%s is %s" % (title, name, gender__text))
print__info("Ahmed")
print__info("Osman")

print__info("Ayse", gender=False)

JUPRE T
Cduad g asiicdis Bl )b oSS O3S Lidls b« susldee s Sle ELG,Y sl suoas

CCUPIOG5,35 Glasly 5595 ° pmr Lol s il ;083

def demo(num, *nums, **person):
print(num)
print(nums)

print(person)

demo(1, 2, 3, 4, 5, name="Ahmed", age=18)
P il 6585 () SlannSgs
gopaandid 5785 )5 ovnan ¢ Junalandid SaneaSdss AL ounpd EldannSigs
I WERW L
Setaend Olinoniiin g5 Vgt an s ¢ gk L _agS alis g lagutd s . 1
E RN CRICRUIT ON-E S IE N )1 Iy SIPE RWAS AL SRR pee i
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IIPE Lol coode I &2 Diledg 1l annnSoss Tildlse pjle wjad o pdlas. 2
L (odls il Lt
def sum_number(num):
print(num)
if num == 1:
return

sum__number(num - 1)

sum__ number(3)

B ol Sl EiSicns
Lkl 088 5e8 vale Jow B YegS 0adyg hjer je vl sulb
(F gold Gl ) o casiadily Ll o
ol 1S pale e B il S0 sl B0 Eldas p gl 4
SS9 oned BB 5 YosS aK5 Ljlantis Ldninds paesd po ¢ Owlold liorliigd .5
- gas g
bl 5 A aSiss lignin o5 Talle Sllous 05 1,505 L 6
i WERW UL
F 9y Wbl il s 0§ poosd ¢ wasdd aSU Y S e s L1
FGILS (20880, 50 iS558 ¢ Ludgr aSSe 80 alad 0565 .2
mlind Oludloyas Bhs ¢ Bgr owordl @dge Sludg)suld  dbejud 5445 aSSe 403
NREEIR
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 goalear 0 jlannnSigs
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aSA il amlgar ¢ ©8)gr (B35 9 Gan i ;S09S 0aIaS L) L o a3 US o Ludgr Sec 5
oy

b g g dlols Gladiad LS g5 SlaSazmgd pasdaS W)L pudS ol
2310 Wlag pB Olalels oo gnd o Ldgy wSas s

oS 8lgr wSamgh il ¢ WS Lale BB laes! S

e LLSi o LS

gade IS IS0 L oliliie olul 8B LWL Sahe Lg wSamd ol Ly S
g cSamigh ausls

GeYVe 0 cSimd el Gudsr JU e waday NS

cgadgr Wgwss of aluls Slodgs aSazmagh ¢ anbs o Leditd Whw s5 0f Gulols Slusls LudS
laosl So 2 ¢ b o coddas cale B« 038 ool SaaY 0ad; by liSazs o3

1o ,.8 pinSln it )b SleodS 3lols
1o S uld wadiss lidgd 3 Soudessd abdaay kS

o SlidS L 1
Sb SdwalB Slwols 0 aduls . 2
S o sas e Blols 1 J4wds .3
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Person
name
age
height
run()
eat()

S5k S wulﬁ oo g0 WSaow o)

LT apnSgd Sond . 1

05 Bukwls B L 0das aSiSam e 58,5 oo wbidas $lls o5 dir  coanaSSss SoS
osbsis - gy LS5854 35
info list = ["Omer", 21, 1.85]

print (dir (info list))

cduds pils Elalegnll 1les, 88 cSaxs gl toNeW-- awnSSes S .2
cdunds 8l Ellagnls oudaS ja Wagend aSSaxs o N ) 1| | VO ST S5 .3
ilogols 0dyd  bYYEe B o salile Sl cSemg el i Sxb 4
SRR
cdols 8l lwslals print(eSaxs gf) 1 -Str-- auSSys Sxd .5
class Cat:
def init (self, new name) :

self.name = new name

o

print ("$s Come" % self.name)

def del (self) :
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o

print ("%s [ am going " % self.name)

def str (self) :

o

return "I am a cat[%s]" % self.name

tom = Cat ("Tom")
print (tom)
N W E
¢ S oo 3 Ol B3 ISEE Sl s Gdsls s

Sl 3 Sloaled il S BliiS s Wi s

class Women:

def init (self, name) :

self.name = name
self. age = 18
def  secret(self):
print ("%s Age is %d" % (self.name,
self. age))

xiaofang = Women ("Ahmed")

print (xiaofang. Women age)

xlaofang. Women secret()

R y g RS & . . . N

Sl 3 Slnsleds il S BliiSn s Wi s
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- gotlSer
class Women:
def init (self, name):
self.name = name
self. age = 18
def  secret(self):
print ("%s Age is %d" % (self.name, self. age))

xiaofang = Women ("Ayxe")
print (xiaofang. Women age)

xlaofang. Women secret()

Cdades Jaudadials slanls Gl axSagtalid Tud e LS SR d pwsad of Bl wsal

: Oalwans
class Women:

def init (self, name):

self.name = name

self. age = 18

def  secret(self):

print ("%s Age 1s %d" $ (self.name, self. age))

def display age(self):
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print ("%s Age 1s %d" $ (self.name, self. age))

Ayxe = Women ("Ayxe')
Ayxe.display age ()
JE V- NWER - QP LC P ¥
gl s 15 Lo Jiduls of Jdwds 3, Slauds BB WS YU
Yk S W8 of el Cawlul laoliied Sy MU YL ovasa

poils pakaekinlind Lild sabes )

Dog XiaoTianQuan
eat(self): eat(self):
drink(self): drink(self):
run(self): run{self):
sleep(self): sleep(self):
_ bark(self): bark(self):
Animal fly(self):
eat(self):
drink(self):
run(self):
sleep(self):
P ) Cat
eat(self):
drink(self):
run(self):
sleep(self):
catch(self):
soalls caaladis Lals sl
Animal Dog . XiaoTianQuan
3 Tselr): L, bark(self): fly(self):
drink(self):
run(self): < ot
sleep(self): aTchTselfl:
 peSeilonl 5 Eluzald sl )
class WMS YL( M BB):
[ _55. )
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class Animal:

def  init (self, name, age):
self.name = name
self.age = age

def eat(self):
print ('eat')
def drink(self):
print ('drink")
def run(self):
print ('run')
def sleep(self):
print ('sleep')

class Dog(Animal) :

@staticmethod
def bark():

print ('bark")

dog = Dog ('Ati', 2)

animal = Animal ('tom', 1)

dog.eat ()

dog.drink ()

[ .56. )
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dog.run ()
dog.sleep ()
dog.bark ()

print (dog.name, dog.age)

P s o Lo Sl 35
g liope Lol 4§ omiafasS ol Lirliied SanllS YU Jju g5 Sl

Animal
eat(self):
drink(self):
run(self):

sleep(self):

Dog
bark(self):
—_—

X1iaoTianQuan
fly(self):
bark(self):
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tOd>gas Jsnad o SSS Lio o Lols odiwds sladS LB

P e Lol (saligis diwds slais BB .1

edicd S puliwdd Sooemd plisgd Wawdd SawldS BB LIS YU @ JSah ojo Lol co SSeS
BB g pdle Ui olibin Ko SaMS Yo Iojuouly 0liydle ool o3850 oim 03
el iy J3e SnalS

PomiakS Jiw s Swds Bl L2

ldgs b Taddeds Blalds BB YogS adlae SoukSg il Ll el Sealds BB LIS YL
Y008 il Gawlel leoluied o) ss S (puil (o8l Jiwds Sl BB 5.s,5 super(O
B

: salwwas

class Animal:

def init (self, name, age):
self.name = name
self.age = age

def eat(self):
print ('eat')
def drink(self):
print ('drink")
def run(self):

print ('run')

def sleep(self):

print ('sleep')
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class Dog(Animal) :

def bark(self):
print ('bark")
class Ati (Dog):
def fly(self):
print ("fly"')
def eat(self):
super () .eat ()
print ('eat so much')
ati = Ati('Ati', 2)
ati.eat ()
ati.bark()
print (ati.name)

print (ati.age)

P s aSwad
LndLls 565« Jasos 35 S Yo W335 42 oo SIS python Ludly olijdle Jgeis s U Vo
ok 3JUL LadUl deuudi s 0888 . duses 3 iwdlS 15ss LB o888 ¢ Juses 18 cpiadlS BB
t ool i of Adols wsad ELLUS GG
Lol . Jusadats p8 sl Lo g 35 gl 0§ il gl SLLollS BB Tud g 38 SL3335 98 YL
Cdooalado 8 Bdols BB B Jiw s Shesls Sl Ll

class Animal:

def init (self, name):
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self.name = name

self. age = 2

def eat (self):

print ('eat')

def drink(self):

print ('drink")

def run(self):

print ('run')

def sleep(self):

print ('sleep')

def display age(self):

print (self. age)

class Dog(Animal) :

def bark(self):

print ('bark")

# def display (self):
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# print (self. age)

class Ati (Dog) :

def fly(self):

print ('fly")

def eat (self):

super () .eat ()

print ('eat so much')

ati = Ati('Ati")
momo = Ati('Momo')
ati.eat ()

momo .eat ()

ati.eat ()

print (ati.name)

# print(ati. age)
# ati.display age ()
ati.display age()

# ati.display ()
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G5 pan Lad 3o g8 0 iduls SLiolS BB 5J,1 oossd . ua¥I Galo, 1§ llS 035 G WS YL

YIS

A B
test(self): demo(self):

class A:

def test(self):

print ("Test")

class B:

def demo(self):

print ("Demo™)
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class C(A, B):

def abc(self):

print ('Abc'")

c.test ()

c.demo ()

ol oo 0§ aols it
ol SlusSam s 1 Glols Jasss

3o fs UasSamgs ¢ Jpofs us

b Sl ziadile Soed w633 Ok s LWle uidels Oliais g SaSamih o jan
Apdp BLEJ5 cSumrgh coninSlad 3l Y by Jhods diSamgs o O3S L fadile St

N " l:. 5 %)AsL?

Lol skl s Lodicd LeadlS _aluls dlauds .1
Jokidis oSl il S,alSllua Y chliogulite LalS §s asesls
osaekadis oSl 3l S Laa Y EliSams s co S8 ddols Elusdls

: Oaduwdn
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Tool

Tool.count
name

__init__ (self, name):

class Tool (object) :
count = 0
def init (self, name):
self.name = name
Tool.count += 1
todawas L Jiwd o S8 Sl 8 kil Sl
1. Tool. count
2. tool = Tool()
tool. count
goelodd s g 5 b miSSS
D s aSwdd
ousad dusied (Buwls lESamsgd waday ¢ Jawdalils aSLLL  salewdas object. class = value 4545
S RETVETIES L SV IVT CIUUT I NI-N I LT WS LY

class Tool (object) :

count = 0

name = "'

def init (self, name):
self.name = name

Tool.count += 1
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tooll = Tool ("palta")
tool2 = Tool ("bolka")

tool3 = Tool ("gilak")

tool3.count = 99

print ("Total tools is %d" % tool3.count) # 99
print ("===> %d" % Tool.count) # 3

Tool.name = 'Ali'

print (Tool.name) # Ali1

print (tool2.name) # bolka

Cdes LSTAlid wieliy sidols SLawdS T3 b U3 s 0okl e Lodind LS Jgwds Slusdls .2
sy b pile W53 Sl o
TamSouiog i JSal paulils
HowoMS o s Wleojad ¢ s Koo salo classmethod@ > iKLas); odiwds Slawds >
oS pyalh SAISE Jpu
oS A3gs €S Sl b i Slidgu s Slaalls >
edes i 8 Laidls ElaSion s 5L3 )5 cls cond Slidu s dlands >
gy il Sos Wk 8 WSl (SasdS 38 cls >
: Oalwan
class Tool:
count = 0
dclassmethod

def show tool count(cls):
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print ("Total tool is %d" % cls.count)
def init (self, name):

self.name = name

Tool.count += 1

tooll = Tool ("palta")
tool2 = Tool ("bolka")

Tool.show tool count ()

S o
s SliSamgd Sb Aduls SlaSamgd gw s eSS jaSs
[JSVY.E )
g S S dduls Sl
pades Ltopn (Wld J4e 5 381,85 o b o Lidlg 4

81,85 ol ileo i3 ¢« Jo S 5 s8 Ko staticmethod@ =Soio LW iwis 581,85 >

oS iy SSASE S
godgr LS 3 W 88 81,5 BB o3 SledS

! Oakwdn

Ldp G rle Sl

L Gy sala Sl

class Dog(object) :

@staticmethod
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def run():
print ("run..")
Dog.run ()
:(Singleton) <llsSSw
SalgaY OB L FaS ¢ asesls ¢ SJaSixiS 0§ gV 35 Sl jalianps So&LE 1 o pudad salgo
syl Gl Jan Oliiy Elidisss pdlas g ol
LYsd afindle BLo AL posS ¢ Lialdis Lol SosS adas Saiicdid s paisd ialegeY
ik LALLS s SISmiaid BlissS 8§ i
o ot il LLSSL
cOdmdgs Jlen Vo Wil e SluSazsgd ole, 38 WS o Landas
gy Sl ol S galile St 13 cSimd otd e
By bl b a8 il LSS,
SSemd g ig o5 »
SSamsgh Siuile walses >
SSamgs iy ¥
IFowe _ mew
bl gdiwds —new-- oalo W Sles a3 Python ¢ 10l 38 cSamssd cundid gl WS >
hoaennds 55l aSSazgS
50 Joy SIS Blwlell Slods L Jawds 38,8 Sl paldiaas object Ly —-new-- >
Stlonndas $5ldgr Lo gadile Sl sSiSazmgs .1
P58 e po0lB SluSazgs L2
it (LS el b xS ¢ S pniaSio 18 L ol Sl g8 Sle a5 Python >
o Wdge 8

!;°*§§* Sl $ogS o Lol JJiwss -New-
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oY e ulSad Shde adsex LL Lol sJdwds --New--

return super().--new--(cls)

—-init-- M&mﬁ [ RVY.E- ‘éwo.ojw).é Lsuw);alf: Mdaugﬁ O ol oamdal «SJLW)“ Python ‘ Wy

class MusicPlayer(object):
instance = None

init_ flag = False =~ # 7rue

def _ new__ (cls, *args, **kwargs):

if cls.instance is None:

cls.instance = super().

return cls.instance

def  init _ (self):

if MusicPlayer.init_ flag:
return
print('init music player’)

MusicPlayer.init_ flag = True

player1 = MusicPlayer()
player2 = MusicPlayer()
player3 = MusicPlayer()
print(player1)
print(player2)
print(player3)
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:(abnormal) 3L e
faninti g8 il s | Slinsl S0 35 ¢ Ludly UidUL Slowr a3 Python o Wlislj3lys 1,28 L S5
G St 00,5235 S o 1 03
reros s illleigi S s faym 8y82 85 BIUL of Juitgs tld 128 sl S5
Bl a8 il jsin ¢ eas a8 Oo,a8 po ) 588 5 W15ea8 suaYB 5L ¢ susaS 45 Lea! [Sg 5
Sl LIS b gl U gy 0§ diledgo ool Sg o ok oy o LS pn0 3 M08 i
Chodgs
N5 NI
5al5 B Y coniaKeedo, prialsjar cuSkuand SU 1,de5 Sluninidd 1,23 EL5,YssS S50 00isS)s5 Lol So
sy LB L s
! Oakwdn
Ltry:
#oosS Sl sl UL 1598
num = int (input ("3135)’,55)..5 QL.; 58 5"))
except:
# o508 Gloadd oo ad e UL

print ("5;55,8 ol oF5 s

print ("-" * 50)
G g Sl
Slivi g oaass + oSae red s MG Jloysis S0, Olieniigd ¢ luslinld | Lol S5
c S0 88 sremiadid 00503 o oulSal Blaenis B S WIGed by gin (Sos, 8
! Oakwdn
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try:
num = int (input ("35;55,.5 ls 555 "))
result = 8 / num
print (result)
except ZeroDivisionError:
print (" &G J3Em)
except ValueError:
print ("9;55,8 Lo o5k Lsm)
PP S pials
oo gy GG G a0 laeal S5 4508 - s Myl sl 3o 3 MU 300 0uisS345 Loal 5
oy Gz D358 S EXCEPL (Gl sl uidle 128 Jloyss sy jojained
P Oakwan
Ltry:
num = int (input ("3§;55,.5 ls 558 "))
result = 8 / num
print (result)
except ZeroDivisionError:
print (" &L J3Em)
except ValueError:
print ("95;55,8 obe 5% 1285
except:
print (‘Jauld  geyai juo SNJGL ol
P S Ilool S 39095 Llhagiys oy
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try:
num = int(input("giﬁsfS‘bL:O}%g'W) result = 8 /
num
print (result)
except ValueError:
print (9,558 Lo o5k Lsm)
except Exception as result:

print ( ("Gl 9¢¢N° % result)

else:

print ("gaild Gl elliansagesss )

finally:
print (".395 u[s_m.......l.._e ‘).au_:’ r)fs?;;—")
print ("-" * 50)

JPOIILE) TRER TN | DYPVOr
Sl g/ annSogs Jlanid S8 ¢ a3 Jlsedd Jlojsre lashjer ald s J5ud 7/ annSSgs
N e s
s alwas
def demol () :
return int (input ("35;55,.5 ls 555 "))
def demo2 () :
return demol ()
Ltry:

print (demoZ2 () )
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except Exception as result:
print ("Gb e3lali'es" & result)
R VI RSN | DY
Boper e olils illloysiy Taibar LS Tmd s Sleeas PYHhon  ewaSiss Ll S5
roaVUB iyt oanlols lholosted S35 Slineal S50 Gabe oS5
P PERL.
endB (38,15 TaiSe Samssh b 0§ ¢ oo, 88 wSaxs s o oalo Exception WMS palliwas Python
s alwas
def input password() :
pwd = input ("input password: ")
# 2. password >= 8
if len(pwd) >= 8:
return pwd
# 3. password < 8 abnormal
print ("Abnormal™)
# 1 create object
ex = Exception ("less than 8 charactor™)
# 2> raise
raise ex
Ltry:
print (input password())
except Exception as result:

print (result)
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# input password/()

1. file =
2. text =

print (text)

:(file ) a3
cologlas TG o Sz gadile Ly Gazrfa (So0)95 geungS
HDD, SSD, U disk, Optical Disk :z jalsle
c gl sudle Gl SLLSSE 15,85 gnd oS sz §2
oY aRide 3wl Slibama3a
Ppg8se bl SYgatas Sluaz5a 1o 98 gmgS
(oS Saxzie o
(PP R @
¢ B e
b3 3 aeSSgs 1 plivadind i35 SYjadas waxa3a 1s Python
o, 508 Sacsof ez 50 suwad ¢ JRwas liixd a5 auSSss Open
gdle b RAM 04895 biajan SSaxxin Jowis Tead
ool aSSamrge Sesas Jge S Write
gl amxge Jowgs close

: Oaduwdn

open ("D:\Okul\python teaching\code\me.txt")

file.read()

3. file.close ()
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1. file = open("D:\Okul\python teaching\code\me.txt", 'a')
2. file.write("123 hello")

3. file.close ()

bS5 e el llamarge 2 5S0as, S Cazr e ¢ S oilanldd 123 Jiw g5 read o
LT PSS Dais
Loyl Slivwal e puddilingig QWAL (oudg;8 s ez ga
g 8 gy Elilazr $a aesl 2 §SSaw, 35S Wazrda (o wilaband (iS5 ez e
BSs s Lol litama Jo 2380038 Sz go « aililys 125 J3e 35 read
: JB s
BLE il s adgo Tead o LIgg Missas Bl ¢ eild imd b e Jiu s Tead st
Ty LSt )8 liigajus
file = open("D:\Okul\python teaching\code\me.txt")
text = file.read()
print (text)
print (len (text))
print ("-" * 50)
text = file.read()
print (text)
print (len (text))
file.close()

LSS g s sz g 550,58 Gamade S paildlyy QRS @il e - diledsr 105

\D-
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Fdgedgy |

SiSomrin 3Siney3S Cunrge .t endl 33558 Widsy
b s Wisdan Wan>ga 458 L walle defual & ¢ judied Toino r

o 3L

L..>L9 55 LMon—? ué:gd.o uw}.ﬁ )6563 Qw.z.ﬁ sodla o 2 3146.96.4 W

§o5,5 ornrge Ko o Ly Ofrine Oanrie S8 . jadsiy

Wazin o Ldg Wisdas oz 4848 L i3 sodle  bdded
T EY TNRGICES CR I IR KW TP ERVEAL U RTICS COE LS WS a

cduoil 04,88 wazxr g Ko o by

Ubonz3n 7 4S50m,35 Canmgn S ol Siop of S| I

R e T TCs YOIy YW/ B R

P Ly Oirgae wamrge 058 L hard sadlle oio of 45545

595,55 Camrde Kot Leadsy Odrjoe Cumrfe S8 Salpy Ll | W

¢ Ly ©irges wamage 088 L hend eudle g of A4

Wazxge 058 L jad gl ol Slilamrie 2 3SSas 8 Caxsge | at

999,88 axxie Ko 08y P i ¢ by Wixdae

P s aSwad
Loal S0 1855 - i3S ol aRas335 Sofs 0F (3385 Slitamn o uSify o85S, 35 i o
b Woaddle je (Sb 45855 Ludly axiogS jaliaxsfe ladhjer e

e N IR & 9 o . 9 . . v
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Ll Jgr Jas wazmrgo ja568 « Judile L RAM logid Voo 508508 3,1 Sazaga J3o 45 Tead
adg a3 elind WS S4lhs  Sgsadile Sl

5585 Wz g ¢ S Pl 13 J4w S L cdndilS (8 o luesd o J3e3 Readline

gonidloas Liagsss Lol ¢ LSS5 )8 SeaS
file = open("D:\Okul\python__ teaching\code\me.txt", 'r+")
while True:
text = file.readline()
if not text:
break

print(text, end="")

file.close()
PP (Pyudiear e
¢ oS Hemrie Wizdas .1
(AHEPH $Hg5 Haxxie 4 ef.2
iy oSiazrin WAL of .3
! Oakwdn
file_ read = open("D:\Okul\python_ teaching\code\me.txt")
file_ write = open("D:\Okul\python_ teaching\code\mel.txt", 'w")
# 2.
text = file_read.read()
file write.write(text)

# 3.

( .76. )

WWW.uyglhurl%itap.Com




file read.close()
file write.close()

(9,978 Slianads de
file_read = open("D:\Okul\python_ teaching\code\me.txt")
file_write = open("D:\Okul\python_ teaching\code\mel.txt", 'w')
#2,
while True:

text = file_read.readline()
if not text:
break
file write.write(text)

file read.close()

file write.close()

:6‘5?9:,.:"“4.0 NIYEEREN

- o e &t ] ’e

Jlawns Sy giadge | Jhe s

os.rename o 55585 el Slilax>$a | rename
os.remove G888 oaliax>4a | remove

:Lf’i')’é:?.'b&o 0 100990

Jls Aopai | R
0S. listdir( ows sz pu580) Sl 3 sz o o | listdir
0S. MKAIr( s azx o0 4e) 99,88 az ol de | mKdir
0S. TMAIr( owd s 00340) 98,558 dwzo o0 4 | rIdir
os.getewd() i 8 8Kz joud b Swiios s | getewd
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0S. chdir( .5 s pusi) o3 185 385 e o0 G0 4 u> | Chdlir

os. path.isdir(Js cexse) | JWicd aSdoasd SU wax>3a | path.isdir

P wanSTgd eval
input str = input ("d5;55,5 Jlew slsslsl: M)
print (eval (1nput str))
:assert
el ;0588 L Jadidid Gir B Gy pos )b aSh g, 3aS0 uSduanad  SU ey SLSjal o adas assert
toalwas L sl bl AssertionError o Ldg Gl
x = 10
assert X y 5 # right
assert x ¢ 5 # raise AssertionError
:async  ,await
callo calo Jisgs asyncio atesls ¢ judidind ailg) s Leal,Sep jewwosdd wls (e 488l SSS 4
Soinialid 1z SLolais G Lidly o oalo Sloss ¢ dudadils Wilius S losidd puwosad  wle asynce
Podeoas L JoMBle  giiidalals SLSY drbas jamsooad  wls 05 jucicis oS
import asyncio
async def exampleQ):
print("Start”)
await asyncio.sleep(2) # async working
print("End”)
# run async function
asyncio. run(example())

:lambda

oo Sasalid pendsss def B L5l B>l Oluadadid lio s awsSyd bl lambda
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JUTA RV IE NEYUZVU I S ORI JYS [P T
) iy Sl (SKS 408 janals
add = lambda x, y: x + vy
print (add (3, 5)) # 8
:nonlocal
O 5,538 Slie 285,658 (Leasds global) AL sowananS3 3 oaSiale .S nonlocal

Sy SoanSS s Soud e O S8 HaSialo WS (ammesalid nonlocal a3 . juladils

POalos L gunacla 45585 diwlfe Sieed (9505585
def outer(Q:
X =23
def innerQ:
nonlocal x
x =10 #
inner()
print(x)
outer() # 10
cyield

JENCRRCREEN S TET 33 CHERUETIO U IVE-L IOy IS NWIEN X DI IO NE WM
oslasas .+ duu, sodalgle gildd VS cualle b Tasle p8le Lol (¢ duced Jao LML awsd sodle
def my-generatorQ):
yield 1
yield 2

yield 3
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for value in my-generatorQ:
print(value) # 1, 2, 3
: __name
: SbuaYl sliidsls —-name--
Hiouloadad 1,28 1olald W)aaed « Judgs 18 11508 slicw waday 8068 Elidioge lws @
sidwls S8 ELo python —_name-- o
dusdile o I G 15 —name-—-  Llg Gladd W 0008 (ouao el jaliaxsga WSL 5 4545 e

chodges —-main-- eed So --name-- lolon! ;S g O 4 1,x8 [ 3S a0 ja5a5 @






